Physicsaholics

Video Solution on Website:-

Video Solution on YouTube:-

Written Solution on Website:-

DPP -5 (Current Electricit

https://physicsaholics.com/home/courseDetails/55

https://youtu.be/Mj1GgNdb4CQ

https://physicsaholics.com/note/notesDetalis/52

Q1. Ina Wheatstone bridge circuit P =20, Q =302, R=60 and S = 8. In order to
obtain balance, shunt resistance across S must be:

@20 (b) 302
() 60 (d) 8.0

Q2. If all the resistors-are 'identiéal_ having resistance~RQ. Find equivalent resistance

between A and-D?

()=

(©=

4R
(b) %
12R

(@) 2

Q3. If all the resistors are identical having resistance RQ. Find equivalent resistance

between A and D?
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(a) g (b) ER
© (d) ==
Q4. The effective resistance between point P and Q of the electrical circuit shown in the
figure is
A
2R 2R
2R
AAAAAA NMVWWWA
P r § r Q
2R
2R 2R
AAAAAA > ¢
B

(@) 2Rr/ (R+r)
(b)BR(R+ 1) /(BR+ 1)
(c)2r+4R
(d5R/2R+2r

Q5. Find the effective resistance (in ohm) between the points“A‘and B of the following

network.

20 10Q

VWAV VWWWA

Ao—] 20 —B

VWA VWV

100 20
(a) 4 (b)8
()13 (d) 10

Q6. ‘Eight identical resistance-r each are .connected as shown. If equivalent resistance
between AD is Ryand that between AC is Rz then %
2

O

7

Q7. Thirteen resistors each of resistance H are connected in the circuit as shown in figure.
Net resistance between A and B is:

@4:5
(b)2:3
(©)3:5
(d)1:3
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(@) 2R (b) 4R/3
(c) 2R/3 (d) R

Q 8. Eight resistances each of resistance 5042 are connected in the circuit as shown in figure.
The equivalent resistance between A and B is:

()2 O )= Q
(© =0 ()0

Q9. Twelve resistors each ofresistance 1 Q are connected.in the circuit shown in figure.
Net resistance \between points A and H would be
C

(3) 20
(b)1Q
(©)20
(d) Z0

Q 10. A battery of internal resistance 4Q2 is connected to the network of resistances as shown.
In order that the maximum power can be delivered to the network the value of R in Q
should be
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@5
(b) 2
(©
(d) 18

Q 11. In the given circuit, it is observed that the current I is independent of the value of the
resistance Re. Then, the resistance values must satisfy

Rs
—— AW
S S
I i g 2P
< RG . e
— ———AAAAAN——]

Ry

FYYY YN
Lk bk

I AR
LA B b & & J

(@) R1R2Rs = R3R4Rs
1 1 1 1
(b) Rs Rg  Ri+R; ' Rs+R,

(c) RtRs4=R2R3
(M R1R3=R2R4

Q 12. In the circuit shown, some _potential difference is applied between A and B, The equivalent

resistance between A and B\is'R:

20
AYAvaV

A Ia 50 E 40 B

B O

(@) No current flows through the 5-C2 resistor.

(b) R =150
() R=1250
(RO
Q 13. Find effective resistance between A and B, if all sides of prism have equal resistance

R.

A E

D
B F

O
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(@) 3R/5 (b) 2R/5
() RIS (d) 2R
Q 14. Find effective resistance between A and B, if all sides of prism have equal resistance
R.
(@) 3R/5 (b) 2R/5
(c)R/8 (d) 2R

Q 15. Fourteen identical resistors each of resistance r are connected as shown. The eguivalent

resistance between the points A and B is
G

(@r

(b) 14r
(c) r/14
(dy1.2r
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Answer Key
Q1 d Q2 c Q3 a Q4 a Q5 a
Q6 a Q7 ¢ Q.8 a Q9 c Q10 b
Q.ll c Q.12 a,d |Q.13 a Q.14 a Q.15 d
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